Name: Y\Q \|

. Collab #1 que: Wednesday, April 6
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Collab #1 Handout for Math 1A
Instructions: As a group of 2 or 3, discuss how to do the following problems On this
paper (only continuing on a separate sheet of paper if absolutely necessary), write the answer to each
problem showing all work in getting to the solution. Box the solution.

1. Define a function. Discuss a function’s domain and range.
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3. How do you identify a vertical & honzo%ﬁe&épt‘? How can you interpret}” An oY w1
them?

RvecYical intercent © wnere, cue LOSSES N\ b s whece x=0.
A ot zonal \\\\ff@* S e, CL%(‘ Aadh (§0es \h, XG X, l&\s whece y=

The erfical m’rmep’v \S Jv\r\e/ \)L\selme \\\e Qmount Dfe‘a@\* when ‘(here S
no \r\c)egi\’\c\ex\‘\' The Wor zonda) wiee uz,%( Qo be wner \)(e‘\a,\ VNG| WS-
\'br2 linear e(\ wations et UC\\ doa &\'e\m nd, Exw\y wahion

N\

wierpeeded when Xs u\“e\l‘s&we S *\\c,m\omﬁ ok wdependenit o
Y. But erwo§ o 780 tor L\.\),CRgb #1-Sp11 MiA 10f4

16




4. What is the slope of a linear function? How can it be interpreted in terms of
independent and dependent Vaclables?
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5. Name 3 ways to find the slope and give an example .
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6. Give the point-slope form of a line an’d use it to give the equatlon of the line 2-C 3

through the points (-2, 5) & (3, -1) in slope-intercept form.
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7. What does it mean for a function to be increasing? Draw a pictire of any

increasing function. .
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8. What does it mean for a function to be decreasing? Draw a picture of any
decreasing function.
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9. For each of the following types of equations sketch a graph and give an example
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10.  For the table of values: t -3 -2 -1 0 1 2/ |3
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a) ‘Sketch a graph of the function
b) come up with a formula, using function notation to denote it. Show
exactly how you come up with the equation.
c) How would the process change in getting the answer for part b) if you
were not givep the point where t=0?
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11.  Tickets for a concert go on sale, and 100 tickets sell immediately. The tickets
then sell at a rate of 20 per day. If N represents the total number of tickets sold ¢
days after going on sale, answer the following questions.

a) Make atableforr=0,1,...,5
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b) Find a formula for N as a function of «.

N = 20t +100

¢) What is the vertical intercept? What does this mean in context of the problem?
The vertical "\r\‘\craep’f % OO0,
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d) What is the slope? What does this mean in context of the problem?
The s\ope s 20.
T4 15 the code ol fckeXs sold per c\ck\’ .

12.  Factor the following polynomials:
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13. .~ What do you have to remember to do in your calculator before dealing with Trig

functions?
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14. owing degree measures to radians:
a) 90° v, b) 180° 0} & . — c) 270° -
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15.  Give the values for sine and cosine of the measures in #14. Give your answers as:
sin (90°) = ?, etc. o n e
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16.  Rationalize the following denominators: "
a) \/’7- . v X+2 _\V/‘?(X{Z) or J?)(‘Nq
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